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9. Which line is parallel to AB? Why? 50 — 2-3 Chapte'r Test
10. Name a pair of parallel lines other than the D?’»'* E —F — _
pair in Exercise 9. Why must they be parallel? G Complete each statement with the word always, sometimes, or never.
11. Find the measure of /7 H . ey
: 0 LR MeAsUE 9 ' Exs. 9-11 7 1. Two lines that have no points in common are _?  parallel.
12, Name five ways to prove two lines parallel. » 2. If a line is perpendicular to one of two parallel lines, then it is _? _ also
T perpendicular to the other one.
3. l‘f * anq < == }SIICpresent the measures of the acute angles of a 2-4 3. If two lines are cut by a transversal and same-side interior angles are
right triangle, find the value of x. complementary, then the lines are _?_ parallel.
4 m/ 6 +ms7 +m/8 =21 4. An obtuse triangle is _?_ a right triangle.
15 1f m/1=30 and m/Z4 =130, then ' 5. In AABC, if AB L BC, then AC is _?_ perpendicular to BC.
ml2=_1_. 6. As the number of sides of a regular polygon increases, the measure of each
16. If /4= /5and /1= /7, name two other exterior angle _? _ decreases.
i . . 7S 2 / 5
pairs of congruent angles and give a reason for — - 7. The converse of a true if-then statement is _?  true.
cach answer. Exs. 14-16
¥ Find the value of x. \ \
17. a. Sketch a hexagon that is equiangular but not equilateral. 2-5 - -
b. What is its interior angle sum? 8. mi1=3x—-20,ml2 =x <
¢. What is its exterior angle sum? 9. ml2 =2x+ 12, m/L3 =4x —7)
18. A regular polygon has 18 sides. Find the measure of each interior angle.
. . . Find the measures of the numbered angles.
19. A regular polygon has 24 sides. Find the measure of each exterior angle.
20. Each interior angle of a regular polygon has measure 156. How many i 10, XXZ isovegulen fak . 12. ABCDE is regular.
sides does the polygon have? S
Consider the statement “A quadrilateral is equilateral if it is a square.”
21. Write the statement in if-then form. 2-6 By
22. Name the hypothesis and the conclusion. o -
2%, White thesonyerss and vabe whether Hds Srossop il 13. In the diagram for Exercise 12, explain why EB and DF must be parallel.
24. Rewrite the following statement as two if-then statements that are coi- Use the statement “If x = y, then x? = y2.”
verses of each other: Two segments are congruent if and only if their _ . . .
lengths are equal. 14. Write the:  a. hypothesis b. conclusion ¢. converse d. contrapositive
I5. Pair each statement below with the given statement above and tell what
. . . conclusion, if any, must follow.
You are given the true statement “Toads are amphibians.” In each exercise, . a. x% = p? b. x? # y? ¢ x =y d x #y
accept the additional information as also true. What can you conclude, if any- o ) " T
thing? ; e [l s
16. Given: AB || CD; BF bisects / ABE; G\ [-‘\/E
25. Toddie is a toad. 26. A frog is an amphibian. 2-7 § DG bisects / CDB. - —
27. A dog isn’t an amphibian. 28. A tortoise isn’t a toad. Prove: BE | DG
"' VAR
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